105

nfrozinne costiuira un gvidente ahoso e comporter il risor cimentn dei danni subii,

nti do brevetti o modelli,

WABED

Copying of this document and giving it to others ond the use or communication of the contents thereof, are forbidden without express

authority. Contravention of this resfriction will constitute on evident abuse ond result in a liability to the payment of domages. &l rights
are reserved in the event of the grant of palent or registration of o ufility model or design. This document is the subject of copyright.

Non e permesso consegnare o terzi ¢ riprodurre questo documento, ne ubilizzarme il conteruto o renderlo comunque mote o terzi

Senz0 auforizzozions esplicih
E'fotte riserva o futti i diri

<

fitting dimension of the disc
Scheibenginbaumass

dimension de montage du disque
quota fissaggio disco

1) mounting date. of manufaciure conf. “IT-O17"

2) mounting oss'y
3) cusiomer no.

1) Fertigumgsdatum nach  “I T-O017"
2) Bremsennummer

3) Kundennummer

max. rotary outline ( gauge dimensions, related to a = 53 )
max. Rotationskontur (* Lehrenmasse, bezogen auf a = 53 )
profil enveloppe maximal ( calibres, relatif a a = 53 )

rotazione profilo massimo ( rifertite al calibro, in relazione a a = 53 )

max. displacement ( nominal )
max. Verschiebung ( nominal )
deplacement maximal ( nominal )
max. movimento ( nominal )

2) no du frein
3) no du client

1) date de fabricafion suivante “IT-017"

1) dala di produzione secondo “IT-OT7"
2) no, frenp
3) no. clienle

@ brake disc new 34-0.2, max. wearable up to 28
Bremsscheibe neu 34-0.2, verschleissbar bis 28
disque neuf 34-0.2, a user jusqu'a 28
disco freno nuovo 34-0.2, usurabile fino 28

@ assembly dimension for brake pads

Einbaumass fuer Bremsbeloege
dimension de montage des garnitures
dimensione assemblaggio pastiglie freno

@ WABCO recommandation

WABCO Empfehlung

WABCO recommandation
raccomandaziona WABCO

@ hexagon widih over flats 8
Sechskant SW 8
tete hexagonale (surplats 8)
esagono SW 8

maximum disc clearance
Scheibenfreigang
course libre du disque

max. dimensione installazione disco

@ outline af 640 175 118 0/119 O

Kontur bei 640 175 118 O/119 O
contour a 640 175 118 0/119 O
contorno di 640 175 118 0/119 O

related to a = 53
bezogen auf a = 53

relatif o a = 53
in relazione a a = 53

fuer Transport und Lagerung

for storage and shipment

pour transport et stockage
per stoccaggio et fransporto

5 7 9 10 1 12 14 15 16 T 18 19 20 21 20 23 24
. 13 - 1.5 o
18041 - 76 -
96.9 - - 67.5 _ 180
- 120.740.25 _ - 46 - b 2582
| 2.902
_ PIT+0.25 - 125.5 —_— % o
- 4.5 _
£
&
] S
(@)
5 i \ Lo g}b
(7x) ‘ >
I I 2 2 1. R
31| k ! > / @ g; | |
I v 640 175 118 O /119 - _ _
S o - i \ e — [ S ]7i
| )/"7 | - 0.2
2 ,<X\ | R ﬂ o
AN D) o ; - @E
Q .
o/ 3 & & e | |
‘ ) \\’/ T \ —
| § b d “k = I
— e 0 ) / |
3 - \
= oy N o | % T H —
N N e el W T ————
) y = ) ' J
1 < W =
8 (@) < | g | ae | \ A
¢ , & n = LS | a0 | ¥
y §~/ o | é Ig I
/ I % | [ - | 2
& &
{} (\ - [T]0.08 o %
\/ = & -
- 1= . , - 0
- 0 = a5 X 2
o - 45 T ©
© 4)( et 12'5
@0.2 - 1
.22
_ o - o L o 1 \
- see chart
siehe Tabelle
195 voir tablequ - - o1 9
vedi tabella 2470
10 — el 11
34.85 14
- (o) - see chart
siehe Tabelle
- .15 - 44> voir tableau
vedi tabella
- 127 -
- 134 _
- 147.5 -
tightening forque Width over flafs Note
Anziehdrehmement Sw Bemerkung
couple de serrage surplans remarque
2X cappio di serragio misura chiave annotazione
brake mounting Bremsenbefestigung fixation du frein fissaggio freno
135 £ 9 Nm 19 DIN 961 hexagon screw, oiled @ Sechskantschraube, geoelt <2> vis a fete hexagonale, huilee @ vite ¢ testa esagonale, oliate @ @
M2 x 1.5 x ... - 10.9 M2 x 1.5 x ... - 10.9 M2 x 1.5 x ... - 10.9 M2 x 1.5 x ... - 10.9
14 Tightening order Anziehreihenfolge ordre de serrage sequenza di serraggio
340 + 20 Nm Caliper quiding Sattelfuehrung quidage d'efrier quida pinza
1. long bolt 1. Bolzen lang 1. axe long 1. viti lunghe
1 2. short bolt 2. Bolzen kurz 2. axe court 2. viti corte
8 Cover fixing Deckelbefestigung fixation couvercle fissaggio coperchio
68 L 5 Nm MIO x 1x 20 - 12.9 M1 x 1x 20 - 12.9 M1 x 1x 20 - 12.9 M10 x 1x 20 - 12.9
£ 10 Cover fixing Deckelbefestigung fixation couvercle fissaggio coperchio
DIN 34800 - M10 x 1 x 40 - 12.9 DIN 34800 - M 10 x 1 x 40 - 12.9 DIN 34800 - MIOx1x40 - 12.9 DIN 34800 - M1Ox1x40 - 12.9

640 175 119 O

640 175 118 O

4

mirror image

Spiegelbild
image inversee
immagine riflessa

as shown
wie gezeichnet
comme dessine
come_disegnato

640 175 117 O

640 175 16 O

33

mirror image

Spiegelbild
image inversee
immagine riflessa

oS shown
wie gezeichnet
comme dessine
come_disegnato

ident-no brake

Mat.-Nr. Bremse

reference frein
codice materiale freno

customer no.

no, du clienl
no. cliente

brake type

Kundennummer (a) Ausfuehrung Bremse
varionte de frein

versione freno

PAN 17

dimensions without folerances are gauge dimensions pnd. | 265 |cap|  Auftrogs.-Ar. ED-KB | Konsh.-AbH.
nicht tolerierte Masse = Lehrenmasse
~ dimensions non tolerancees = calibres _ beart. 2 |Gewicnt tig) | system
le dimensioni senza tolleranza sono quelle rifertite al calibro | [ges. gon.
Listorung rur noch Zek /e Mercedes-Benz Benennung Format
CAD-Dalon sowie erproblom,  froigege-
benem Musler. Keinerfei A g
gk S Merceoia. Bans AG Mercedes-Benz Sach-. Bt
versehene{n) Zeichnung CAD-Dalen.
General Specification:  JED-334-1 , Size 150 14405 LP Copyright wapco®
Further Technicol Dota: Dot | Signofure WABcn
Dos. Codks Sheet: To T Disc broke PAN-range light
2015-05-27 Wiedemann , ) .
cenerel Telermnees D72 Chelked Scheibenbremse PAN-Reihe leicht
Range of Nominal Dimensions { 4+ mm) 2015-05-27 ‘ : Redemann Frem q dlsque PAN_ J[ype gomme basse
> o> 180 Exper i i
Coss 1 | 550 | 80 < 400 > 400 Redemam Pinza freno disco PAN leggero
e 0.5 10 15 20 28Au2591 Scale Material No. %?celggd:rst LZiugeu:Uge 202;11503;18
Medium 1.0 2.0 |30 |40 e 1
Coarse 20 ] 35 |50 | BS Sze  |CAD Syslem 640 175 116 O 033 | ML | 1/
Topped Holes ccc. JED-152 G FCN-No. Revision Techn. Resp. Replocement for
1) Toleronce Closs Applied Crossmarked A O CREO G W 167780 x A 6921

quiorisation expresse. Tout mongquement o cette regle constitue un ohus evident &F expese son oufewr ou wersement de dommagas af

inferefs. Tous draits de propriete industrielle reserves, notamment en matiere de brevets et de modsles.
nicht ausdruecklich zugestonden. Zuwiderhandlungen stellen einen offensichtlichen Missbrauch dor und werpflichfen zu Schodenersatz.

Toute Communication ou reproduction de ce document, foute exploitation ou communication de son contenu sont interdites, souf
Alle Rechte fuer den Fall der Potenterteilung oder Gebrouchsmuster-Eintragung vorbehalten.

Weerqube sowie Vervielfaeltigung dieser Unterloge, Verwertung und Miteilung ihres Inhalts nicht gestaltel, soweit

10

11

14

15

16

18 9

20

4

"]

\
100mm

==

dhwi BAOTTSNE0____053 / Version: B2Xstaler Under Review / rfd: G40TTS1E0____A02 &)




